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ﬂﬁf&m#mﬁm&amaﬁ?
(1) Tl g=een
(2) fertem ymd

(3t sz

4) fatmaz

k\.g/aﬂ#ﬁm'ﬁﬂim'ﬂﬂ?ﬁmt ?

o

(1) et

(2) =
f criwrifEm

(4) dfffer

The organisation, which publisheq
Teport Youth & COVID-19 ¢hat
®Xamines the impacts of COVID. 19
On jobs, education ete. ;

(1) 1LO

(2) World Economic Forum
(8) CAPART

(4) UNESCO

* + The Institute, with which the

Government of  Rajasthan
collaborated to implement a new
approach to road safety :

(1) IIT, Madras

(2) MNIT, Jaipur
(3) IIT, Mumbai
(4) IIT, Delhi

Who of the following travelled
into space by Virgin Galactic in
July, 2021 ?

(1) Sirisha Bundela
(2) Sirisha Sharma
(3) Sirisha Bandla

" (4) Sirisha Bendre

Which fungus ‘black

fungus’ diseage ?

causes

(1) Leptospira
(2) Mucor
(3) Lycopodium
(4) Penicilliyp,
OA



@) Ty gl i
%%mRNA,ﬁSABS-CoVZ
P Lok ok ocg 3
&
MWM{)ﬁmﬂmﬁ
Ei'llwa‘%wnﬁuﬁhﬁim ?
(1) 5
ar 2
3 3
4 4
WMWW 2021 ¥ e &t
¥ A W § o w1 e
Ve U9 & W1¢ g § 9% ¥ |
@7
(1) s=§
2y 3T
(3) TR
@) #@
}AmﬁﬁWZDZIiMSME
e # sEwR R omn o @
MSME 3= anwd 7

ags¥’ T, T g8 Hifeam weome
(2) Hifem, VARG T W
RO

(@) TR, wE T Wi
TR

gy e, @ WS
TR

3

@ 2

@ 3

4) 4

accorded by Government of India
in July 2021, which aty of
Rajasthan stands on top amongst
smart cities of Rajasthan ?

(1) Jaipur

(2) Udaipur

~ (3) Ajmer

(4) Kota

charge of
July

for -

Ministry in
2l. Here MSME stands



YOV TR, 2021 # mgwE MR
et & o wreea et ) IS
™R
(1) driwre, frgdah
(2) ®ifrg-19 %1 3aw, dwreafafi

\(8) Wrg- 19 a1 e, shere 2
(4) ®ifyg-19 %1 3wam, AT

\10./ ‘BRICS’ #Y 2021 & areqsrar & arctl
8

(1) =
(2) wlle

10.

11.

12,

Which of the follgy;
complications been adl;g :’lealt
list of  Ayushmap B"; t
Mahatma  Gandhj Ra;iaat%ri
Health Insurance Scheme on sa
January, 2021 ? 0
(1) Pemetrexed, Fistulectom
(2) Treatment of COVID.,
Hemodylasis
(8) Treatment of COVID.1
Prolapse Uteruyg,
(4) Treatment of COVID.1
Pneumonectomy,

Which country chairs ‘BRICY
2021 7

(1) China
(2) Brazil
(3) India
(4) Russia

Who won the French Open-Me:
Singles-2021 ?

(1) Stefano Tsitsipas
(2) Roger Federer
(8) Rafael Nadal
(4) Noval Djokovic

The first Indian fencer
Participate in Olympics is -

(1) Radhika Prakash
(2) Kabita Devi

3 Ritu Chaudhary
4 Bhavan; Devi



\15:" e Y wery s g 1 ATH IR ?
(1) 9. ey
(2) 9™
87 ftesror
R (4)y WZZ eEa
\16:” g5 v 4 g iz fwm @
(1) e

13.

14.

16.

1 6‘

17-

18,

pance 1S Periormeq ;
ﬂd.‘ on of Rajasthan ? b

r
why Shekh awatl

r
g) Me"®
:3] Hadotl
(4) Bﬂgad

ng the following by
ﬁ?}af;eiples of Delwarg 7
(1 Bheem Shah
(9) Neminath
@) vimal Shah
(4) Adinath

. the author of Kanhad De
Prabandh’ ?

(1) Pt. Jeevadhar

(2) Padmanabh

(3) Veerbhan

(4) Bhatt Jagjeevan

The main Peeth of Dadu Panth is
situated at -

(1) Karoli

(2) Amer

(3) Naraina

(4) Mandor

Who among the following was the
Ploneer of “Bjjoliya Kissan
Ovement” ?
E;) Af_j“nlal Sethi
) Vilay Singh Pathik

9 Kesri Singh Barahath

Swami Vivekanand
@) AYanang Saraswati

4) @ "oy
Gopa Krishna Gokhale
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2. T
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T e

2) =

(3) ®rHTs
(4) fomrs

23, e @il wad R 2
(1) HaTé A
W@ #re
(8) ¥EE®
4

[ Prffea 3 @ s @ gl ‘o gl #
goft 4 HTaT R 7
\zf R
(2) FHTTG
(3) BTG
(4) TR

y/ﬁﬁﬁﬁ“ﬂﬁﬁm”mﬁm
fergat a7
(1) T
(2) Tt afgHt
\(3) A et
(4) T feremar et

19,

20,

21.

22.

23.

24.

The Number of villages 4y,

a
by the Mughal Empergy f%Ed
for the arrangements of o

“Shrine of Khwaja Mgojp. t}}e
Chishti” were ud-din
(1) 18 (2) 09
(3) 12 4) 15

The “Tiwara tax” was levieq Ot -

(1) On Agriculture Prodyctjgn

(2) On Industrial Productions

(3) On trade with other stateg

(4) On festivals such g Diwali
and Holi

The original name of Nathdwarg
was —

(1) Bedla
(2) Banera
(8) Kanore
(4) Sihad

The eighty-four pillars cenotaph
is located at —

(1) Sawai Madhopur

(2) Kota

(3) Jhalawar

(4) Bundi

Which of the following forts fall
under the category of “Jal Durg?

(1) Gagron

(2) Kumbhalgarh

(3) Nahargarh

(4) Ranthambhore

Who built “Raniji Ki Baor’
Bundi ?

(1) Rani Gayatri

(2) Rani Padmini

(3) Rani Nathawat!

(4) Rani Vijaya Devi o

at




(3) fmn b
\}/1;4) e
2
TETRT i) ffn & @ A TS
RLiL

\2{’ (4) 3R siRfae
. & ¥ g e wR AW A= A
P § 3 sad R 1
) W=
T
(3 Taw
\ 28 waa sidem & o fre § & PR
s 3 vl T wEE H
Hewar TE o of ?
(1) .=, tE
(2) .2 fagen
(4) T T
(Ba.) e g s i o 3
forem ShIf -
A TR

[I. & B. 3IWUG@US
1. fm C. wARH

| 25

27.

28.

29,

h of the

follaw:
Gandhi OWings

was not

following is not
ch of the follo? one
rffhlt(i]e instrumente played by

mouth? ‘
(1) Rawal
(2) Algoa
(3) Satara
(4) Mashak
Which of the following
Industrialists ~did  not take
membership  of the Indian
National Congress during the
Freedom Movement ?

(1) V.L. Mehta

(2) G.D. Birla

(3) Jamnalal Bajaj

(4) Lala Shankarlal

Mafr:ch the National Parks of
India situated in the States :

L. Corbett A. Madhya
Pradesh

L Kanha B. Uttarakhand

L. Gir C. Karnataka

IV. Bandipur D. Gujarat

i8 ton of correctly matched pairs

1) m v
(2)
(3)
@4 ¢

oo O~
oroas

B A
C D
D C
A B
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(3) 1A @ d HE qm
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OA

36.

a7,

38,

erﬂ—l reso

. Ms hhtﬂl:'le and their pmd“‘-‘tio:f
aa
i A- Li]“]an'
"e’ ten i
; e r:f;anet‘! B. Degﬂna
u Ma er C. Jawar My,
[V [,e d Smg}mm
hEd p airs are -
ly matc
'?c‘ il If v
@ B g c D
(3 A
wc D B
Match the Mountams situated in
untries :
? Name of Country
Mountain
A Pennine — England
B. Southern — New Zealand
Alps
C. Appalachian — Brazil
Correctly matched pairs are
(1) Band C
(2) Only A
(3) Aand B
(4) Aand C

Which of the following is the
continent ?

(1) Mount Perdu

(2) Mount Blanec

(3) Vinﬁmala

4) Mount Elbrus

(Si‘;ez Canal conpects :
(2) 4 e!d""!’!‘amam: sea to Red sea
Atlantic oeean to Pacific ocean

) M d Sea and Black sea

‘€diterpgpean sea to Black

L3
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(0! W%uﬁuﬁwﬁﬂm@mﬁ

\}/mﬂaﬂwma}amm

FAEA 7
) 99, 1946

(2) 26 arme, 1947
(3) 29 e, 1947
N4) 22 Taw, 1947

% I araert ) g T F
1 St e R 7
(1) Igedz-229

W9 1
(3) Hem
(4) W e =

% fw e gt wier-2002

1 ST v e o 7
(1) &

2) @&

(3) St

(4) g

(2) %

(1) B
(4) 3fem

ua)/m

(1) mnw,sgnm Liioes w

mﬁﬂ,a’mgz, W’ﬁt, o
i ,
@) g, TS, e, ), a

-]

f
|
|
|
|
J
|
|
|
|
|

10

39.

40,

41,

42,

43.

44.

When  wag
Committee of hii
Assembly of Ing;

(1) 9th July, 1945 frmc;"%tmﬁ
(2) 26”‘ Aug’ust l

(3) 29tk August 1347

(4) 22nd NOVEMbe, 179

Which Article of 4 the ¢
of India emp U’Wa °nat,%'
Courts for the i
fundamental nghts,g“‘-’mg,,t ’
(1) Article — 229

(2) Article - 32

(3) Article — 124

(4) Article - 226

Nagoya is induatrig] region o
(1) Malaysia

(2) Japan

(3) China

(4) South Korea

In which city of the worg 4
Earth Summit - 29 b
organized ?

(1) London

(2) Rio de Janeiro

(38) Tokyo

(4) JOhﬂI]_nesbu_rg

The plateau situated in betwe

Kumbhalgarh and Gogunda &
(1) Chhappan (2) Mesa
(3) Bhorat (4) Orria

Which area comes under stﬂ"
arid or steppe climatic regio?

Rajasthan ?

(1) Ganganagar, Hanumd? g
Bikaner, Churt gy

(2) Udaipur, DungerP™™ Gy

(3) Jalore, Pali o
Nagaur, Sikar, J}:Jhlﬁ" b

(4) Pratapgarh,

Kota, Bundi, Bar2" ¢
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\_46. frm dfum deiv g AR
e wiw W H g9 GeE § &
15 wferera s difta & T 7
(1) 913t TY= 2002
(2) 93af Gy 2003
\(gy” ggal F¥inA 2001
(4) 9131 =EA 2003

\%Jlgas%mmamﬁmﬁ
Wﬁﬁaﬂwﬁﬁﬂwqﬂt?

@4 ol 3 By AT 1 IR

IV
4
1
1
4

¥

%;m%ﬁhﬂm*mwﬁmﬁ
mﬁﬁmmmt?

173
(2 170
3 171
4) 172

11

46.

47.

48i

List-T with Lisgpp

correct angye,. o

from

List.qy
: Artiﬂle 50

2. Artiﬁle 48

%HI—-‘«.&;E

Which constitutional amendment
restricted the gize of the Council of
Ministers to 15 percent of total
number of members of the Lok
Sabha ?

(1) 91¢ Amendment 2002

(2) 93¢ Amendment 2003

(3) 89t» Amendment 2001

(4) 91t Amendment 2003

Which of the following is not the
characteristic of the Government
of India Act, 19357
(1) Beginning of Dyarchy of States
(2) Dyarchy in the Cen
Government

E? One All India Federation

) Provincial Autonomy

}Vh-ich Article of the Constitution of
o?dlr Mentions about composition
(1) ﬁlglati‘"ﬂ Council in state ?

@ 179

@) 17

@ 179



N9 SR Tz 357 1 s % AR B
9% St 3 syt fosar man & 7
(1) g3z 83

‘42{313@379

(3) ez 80

(4) 3= 81

\yﬁﬁﬁﬁﬁﬁmmﬁ:ﬂaﬁmﬁﬁ
T Afs aw (qem, 2021 76) A,
feprmr g

R
(2) =g
(3) I wew
JORE S |

Y U R s 5 T
arterfaam 3 sr=mia Rearman 7
(1) AFaTtehr weew srfufam, 1995
(2) wrETERR s e, 1991
(3) wraTtteR wwm HiyfEy, 1992
m@fmaﬁmm&rmmﬁm 1993 |

ToEH & TSI & HAg e %) srqey
dar R/ E 7

|
\(C) T e s |
€9) TSI 1 e ]
(1) (&), (B), (C) 3R D) l
(2) el (A) l
(3) ¥ae (A) 3t (B) :
4y Fae (A), (B) 3 (C) |

19, Under which Artj

50.

51,

52.

Constitution of Indjad: % the
Parliament i8 conatitu’ he I“diﬁn
(1) Article 83 ol

(2) Article 79

(3) Article g0

(4) Article 81

In which of the fo ing
Article 356 has beep itlllfﬂhrq::iatea
the maximum Numbey ﬁ;?;

(till July, 2021) ?
(1) Punjab

(2) Manipur

(3) Uttar Pradesh
(4) Bihar

According to which Act, National

Human Rights Commission was

constituted ?

(1) Protection of Human Rights
Act, 1995

(2) Protection of Human Rights
Act, 1991

(8) Protection of Human Rights
Act, 1992

(4) Protection of Human Rights

Act, 1993

Who among the following take/s

the oath of the office befmje the

Governor of Rajasthan, prior @

assuming the office? N

(A) Chairman of Rajasthan Sta
Human Rights Coililmlsmn

(B) Lokayukt of Rajasthan

(C) State Election Cummls’h‘lﬂﬂe;f

(D) Advocate  General
Rajasthan _

Choose the correct answer

(1) (A), (B), (C) and (D)

(2) Only (A)

(8) Only (A) and (B)

(4) Only (A), (B) and (O)
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53. Who amg;g Chairperson ¥ not
gtate Human Rj gh::

%%m m‘m;m#ﬁrn? bee sthan
[ a;[:ﬂm Rajaﬂ»iﬂgia al AR
(#.) wfor . ComP¥™" e 5. gageer med
Ty () Juet
$r) Sl afen ‘Justice N I8
K4 e R @ Justice prakagh T21
it 3 g e 24; Justice Jagat Singh
N ,
TR ehgree wm m“?; A 5. Barkatun&h Khan i I?{pPDmted
St e fapen T B Chief M of Rajasthan
(1) TR Sieft bl after resignatior of Which of the
(2) &y following Ch Minister ?
7 RISIEIS (1) Harid® oshi
% AIETETS gt (2) Tika Ra paliwal
ﬁﬁmm 3) Moh nlal ukhadia
(4) ghivcharan Mathur

nce of the 'Spem{el.

p e ﬁ'ﬂ'ﬁ
A o & weEm #w
55. In the abse
the following may, i

R § e
frifra ﬁﬁ 7 LIS who among
g ¥ w9 wow A AN :
I AT 5 HHa . eRY of urgency, authenticate the
() wada afea 27 bill on pehalf of the Speaker in
\Wm Rmasth@ Legislative Assembly ?
. A - (1} Paﬂlamentary Secre ’
\ (3 el Fd W tary
weft (2) Deputy Speaker
(4 foer o g; b gt o
ecre f the : ,
5@ R I A & iR Assembly of the. Legislative
/et & # o T &% 3= 56. Who among the followi
e g A T w7 | of the Rajasthan Nt O Judges
(1) A5 FARIA | ‘;;t been the Chief fusgourt has
(2) W e l (Il}gh Court of other stat:e‘? o the
(8) o e | © Fagendra Kumar Jain
@) T | ® HJESh Balia
5 A, HIK | @ N?qkﬂsh Tatia
£7. Frifea o ‘N. Mathuy
"/ o 3 W T @ i | 57. Who a
4 % 'ﬂ%ﬂ]ﬁ Mﬁ @i I been thm(}ng the .
(1) = e ? of Rafasemt&ry g%ogmg has
@ @, & | 80"’“113518;2&“ Public hggr?iﬁ
(3) =g i . | (2; ge‘-'en a;J’th?
(4) S8, dEw | ® vk Bairy ingh
(4) D dra §i
13 it Cha mgh
an

oA
a
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\ 59 Wl @9 fowrw wwE (BADP)

(1) Honresm

(2) i rEmmEm

(3) mrfores e
4y Rt

———— i

T % fiba = et foett 3 16

e 3 it e 4 7
(1) wtearet, §Tg, TR, JHeE

(2) yreTETS, W, HaT§ AR, I

(3) I, AR, IR, T,

wsd,

~60. 7 & § ¥ @1 1w Wl TR w®

\ 8y Fiefein i & 9 o v T 3 &

oz, freerfm & ¥ 1 5w

163

RATR 7
Tf)"m%mmr

N2)” 3w wefty 1 R
\(3) il R
(W T e I A g

9 i gren T R 7
\ ¢y afis 3k gEay 6 qaen
(2) et Mo

(3) eyl rfirer
(4) =l i 3m3 3 3

&1 T ITH 2 7
(1) i v
2) &R
@) WA

| (4) G Ee )
ma o SR 2020 % argEm

WIRE 1 S fohre e 4 -
(1) 0.820
(2) 0.488
(3) 0.642
(4) 0.688

568.

59,

60.

61.

3

Which of the followine
cause of poverty?qwmﬂ' 18 hot
(1) %}ndebtednegg

(2) Economic Ineqya;

(3) Social Inclugi;ln ality

Border Areg
Programme (BADP) i ﬁje;’ilﬂnm%
in 16 blocks of whicl, forye et
districts of Rajasthan, 7 Dorgy
(1) Banswara, Dungarpur
Barmer, Jaisamer
(2) Jhalawar, Baray Sawai
@ Dhaulpur Borel
aulpur, Bh
Jhunjhunuy aratpur, Alwar,
(4) Barmer, Bikaner,
Ganganagar, Jaisalmer

Which of the following ;

objective of Gwemﬁgg‘a %ule?g;:f

%)\ g:gdt Budget i

istribution of In -

Wealth i

(3) Economic stability

(4) Increase in Gross Domestic
Product

Which of the following is not &

problem in the measurement of

National Income ?

(1) Problem of exclusion and
inclusion

(2) Double Counting

(3) Improper Records

(4) Difference in Income of the
individuals

. Which one of the following 1s &

qualitative tool of credit control ’
(1) Margin Requirements

(2) Bank Rate

(3) Repo Rate )

(4) Open market operations

As per the Human Development
Repﬁrt 92020, the Gepder
Development Index for India is

(1) 0.820
(2) 0.488
(3) 0.642
(4) 0.688



& HH T vy e 5 S A
&, R Hugi (2011-12) R
2020-21% 4 11% % |
¥ fan fiwat
(2011-12) w gam drree #
2020-21 F Faia w ARH
,»42-40%% | |
T 2019.20 # TwwE W,
HHT T wiYe] IS 1 3.77% &l

g1
\Mmmm i, Ff s 7
AR o e o g T R |
(1) (a), (c) 791 (d)
(2) 9 (a)
3y (b) 7w (d)
(4) (b) @ (c)

\ 65, T & ‘Sftaw wm dm’ w1 gy

OA

2
(1) Tufrean aenatt it 3acresm
(2) it & fore i A
(3) fi=md gt = Fmior
gy Trfm el & fog Reeft
TRl

U e A9 F aEd
# (afeenatt B TS = &
o ) fat afr et @ ¢

(1) ¥ 20,000
(2) ¥5,000
(3) 210,000
(4) T 15,000

15

65‘

66,

conomic Survey g
! he following ‘?‘tﬂte
hich %rre ot regardi
are ‘e development ?
rowth ra!te a8 pey
dameatm pmduct 33
t prices (2011_12) at
oar 2020-21i8 4.11% > &
The sectoral contribytj,
gervices in Gross State Valy,
Added 3t‘ constant Pl’ineg
(2011-12) in year 2020.91 3,
.40%.
é‘fx: Fiscal deficit to Gross
State Domestic Produet in
year 2019-20 was 3.77%,
contribution

20.21
n-'lEnt;

of

(c)

(d) The ] of
Agriculture sector in Grgge
State Value Added 4

constant prices is the lowest,

@) (@) (© and @

(2) (a)only
(3) (b) and (d)
(4) (b)and (c)

In Rajasthan. ‘Jeevan Dhara

Yojana' is related to :

(1) Availability of health services.

(2) Insurance Plan for the poor.

() Construction of irrigation
wells.

(4) Availabi]ity of Electricity for
the rura] poor.

gff £ is the amount of money
on bittg the beneficiaries (Women
the gep of their first child) under
Mat °me of Pradhan Mantri
(1) ¢ 20,?[;%&“ Yojana ?

@) 25,009
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(1) I T Y 7 it F @ w5y

|
(2) T 7 fogfor st & 3feat & s
T3l % 39T 5t W@ |
(3) /72 wwrtt % Fararfer ) g 27 | l
5o ¥ qrEf a1 A @ freery
IS wufire (Iw) B awEn
© HEYE AT |

~68. W Ma Fww! F A $9 W sy | 68,

1 0% Hrw 7€ R 7
) TR e o e
(2) = Fiwal 4 gfg

(3) w ¥ afg [ 69

\j/(zz) g1 it fird sEen

. B H e wER e |
m%aa}a%mﬂmﬂﬁ%g%@ﬂif??
(1) SFEaTe Iy s A
(2 TR 3w T T T
(3) T whq

(4) 3724 U1 T 70,

river sang. Othey
(2) Increage the “late
for constryey:

ti of pi
the state, N Workg 8CP0gy

Which one jg

inflation undey cﬂst.plt;l;i f:au“ of

Clors 7

&ndsumy

uctuations jn
<) Hike in oil pripeq put
(8) Increase in taxeg
(4) Deficit financing

Which of the follow;

Central Govemmentuilsgniethfeo? e

to Unorganised sector workers

1) Deendayal Upadhyay,

Antyodaya Yojana

(2) Pradhan Mantri Shram Yog
. Maandhan Yojana

(8) Swavalamban Scheme

(4) Atal Pension Yojana

Match the following externally
aided projects of Rajasthan with
their respective agencies :

List-I List-IT
(a) Forestry and (i) NDB
Biodiversity
Project Phase-IT }
(b) State Highway  (ii) ADB
Development

Programme-II
(¢) State Highway (i) WB

Investment ¢

Programme- ‘ ‘
(d) Water Sector (iv) JICA
* Reconstruction

Project for desert

dreas

odes :

@ ® @ @
M) @) @) G
() Gv) (i) @) @
@) (i) Gv) () ()
4 @) @) @) (@)
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mﬁ“%ﬂwm:
(1) 19748, 2017
(2) 1 s, 2014 ®I
(3) 197adl, 2015
\() 1=t 2016 H

(180 o PR & wed ¥ o S I
AR
(1) Fanwam
(2) wifemfa oy
(8) T TE W
4y P wrm

74 R W W A R
FANG-TH 41
(1) -1
(2) #ifega-B
(3 f;w-s
\ (4 wdren-TI1

\_ 15 - ettt 7 e Tt gy e # ¢
(1) et da
oy Fren ¥
3) foad WA
(4) formm uifein

17

T1.

72,

73.

74,

6.

The te{:hﬂique of | ‘
Finge

rprinting  Was dﬁvﬁ’ﬁ?&
by b

1) B Wwallace and c‘:"“’ﬂrk%
@ Alec Jeffreys and CO-yg, |
Lalji gGingh and Co'wﬂrk%

(4) EM. Gouthern and mw"rh.-

. (Commission of |
il:: f:g]gaced by NITI Aﬂ?o”?ld“
(1) 1¢ January, 2017
@) 1* January, 2014
@ 1¢ January, 2015
) 1¢ January, 2016

In return for his investment ,
shareholder receives

(1) Profit on investment

2) Undistributed profit

(3) Dividends and Bonus shares
(4) Interest on investment

First Spacecraft to carry man on
the Moon was :

(1) Apello-I
(2) Helius-B
3) Luna.9

(4) Apollo-I]

Who is ca])
technology ?ed Father of Nanc-

(D) Arthy, Weinberg



\_76. trreeyry # fargra 7 st P o
o F gt gan 1 7
(1) 1996
\(2) 1972
(3) 2019
(4) 1983

-
27, @ R @ forrret
(;‘ (cryoprotectant) i ace v A T

HraTR 7

(1) whfeaw gEN-FA0TE
(2) gFw

(3) d.w.wE. 3.

(4) frmda

@{)aﬂﬁﬁmaﬂwm%
/(1) A A T
(2) YagEA Faw B HAH
(Bfere) g
(3) =T Ud =FY faeelt F1 @A
(BferT) g
(4) T S 1 faeTET W

79 w0 SREE W w s
gusiar &, gt @
(1) g« &
(2) 4@ vs. .9, @
(3) &850 9
(4) E&Y.09.37, @
80, U9 # NBPGR ,
Fel fem g 7 e
(1) #mt
(3) AR
(4) IR

o

1R

76,

77.

! 78,

79.

80.

The Department . Sci
Techncflogy wag o Emb;:ge ang
the Rajasthan in 4}, yogr ;f i

(1) 1996
(2) 1972
(8) 2019
(4) 1983

Which one of ﬁ:’"ﬂwmg o
used as a Cryoprotectans 7
(1) Sodium hypochioride
(2) Sucrose

(3) DMSO

(4) Glycerol

gt

Carcinoma refers to

(1) None of these

(2) Malignant tumors of e
conductive tissue.

(3) Malignant tumors of the Ska
& Mucous membrane.

(4) Benign tumor of the
connective tissue.

Kyoto Protocol is an international
agreement linked to :

(1) UGC

(2) UNFCC

(3) WTO

(4) WHO

The regional station of NBPGR in
Rajasthan is located at -
(1) Bikaner

(2) Jaipur

(8) Udaipur

(4) Jodhpur
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Wﬁﬁﬁﬁmmﬂa.ﬁ.%
foite F51e & g0 Jwdm A et ot R 7
(1) mﬁiﬁaﬁ aat ,

(3) wuaT qut
(4) FatE @

wia & guq 3E freh gepl wm
(1) EOS-01
(2) GSAT-30
(3) IRNSS

(4) vz

(1) #m
YO M CE

(3) UfEs

(4) s

81.

82!

83.

84.

| 85,

86.

of the follo*.wing Waves
N ilised by Bats ?oh;degttﬁfg? the
li:ttacles in their flig path”’

?1) Micro waves

(2) [nfrared waves

(3) Radio waves

(4) Ultrasonic waves

“National Research f]entre on
Sr:ed Spices” 1n Rajasthan 1s
located at -

(1) Ajmer

(2) Jaipur

(3) Jodhpur

(4) Kota

Which of the following waves are
used by the common TV remote
control ?
(1) Ultrasonic waves
==

traviolet wav
() Infrared wayeq

India’s first ) ‘
atellite h was
completely te whic e

fabﬂcrate
(1) E08.03
(3) IRN SS

f:} Aryabha ta

he 8

(1) th:;tl‘ee of Rajasthan is
) Khejy;

4) Peepq)
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) ¢ frg e e 4
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T TEEal 3§ @t vl % g
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L
T 1 G a1 2 |
I1. ¥, 7 3w % faf= fvafiememt
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TUIEHT it HHGIHA A § TEEH
|

£
11, =&, e faafaem = a9
fafire sTawEEa ¥ YT I AT

g T T 6 @ 2
feq |
(1) wré oft Forege T @ |
@) I ¥
(3) fak I aoam |
\(4) ok IT 7o &

T ——

NN 7 Tl wemmy

(1) Froa
(2) e |

3) g
(4 o |
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89,

88.

|

Assuming the statemens «
Library has books™ o p, ooy
From the following g atememe'
which one i8 certainly coppect s,
(1) Library is only for hooks
(2) Books are only in the librapy

(8) No library is without books
(4) Some libraries do not havy,

readers.

Question given below consists of
a statement followed by three
arguments numbered I, IT and
III. You have to decide which of
the arguments is/are strong
argument(s) and which is/are
weak argument(s) and
accordingly choose your answer
from the alternatives after the

question.
Statement : Should there be 3

common syllabus for all the
subjects in graduate courses
in all the Universities across
the country ?

guments :
Yes, this is the only way to

bring in uniformity in the
education system in the

country.
Yes, it will help standardise

the quality of graduation
certificates being given by
different Universities in the
country.

No, each university should
have the autonomy to decide
its syllabus based on the
specific requirement of itself.
(1) None is strong.

(2) II and III are strong.

(8) Only I is strong.

(4) Only II is strong.

Which allotrope of carbon is in
the form of a rigid three
dimensional structure ?
(1) Lamp black

Graphite

Fullerene

Diamond

I.

IL.

III.
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SR 7t ¥ ey 3 frfertia #
FH 1 U Ay v 2 7
(1) S 3. v, i 2 |

\g}"”’f“’m . uE, T ¥
IV Im.u.m, s # |
(4) Ny, wigTH |

A ot seren e g
4, 18, ?, 100, 180, 294, 448
(1) 48
(2) 60
(3) 50
5

W%ﬁ%ﬂﬁwﬁ‘GO%’ﬁ
‘BPMH’ @u1 ‘MIND’ &l ‘OJEN’
foran s 2, &Y 3¢t 5z v & ‘SOAR
=1 741 forar wmom ¢

(1) KTPB

¢ (2)-BPST
(3) BRTS

OA

21

90.

21,

92.

93.

b

. 1. the following a
?on?:,de;rder to be a Rl_‘iugénenta,

be graduatg 'f:qn]:'

must

llege.
jﬁl Pgrofesaors are pooy,

Some 1.':1:3.11119111;:«tir_-ians
rofessors. .
No college graduate jg,
'Which one of the following oo,

.1 conclusion regardi,, "°
a valid conc - ing 1.
above arguments !
(1) Professors are not .R’ Ag
(2) Some mathematiciang "

not R.A.S.

(3) Some R.A.S. are Profesgy,
(4) RﬁA.S. are not poor.

are

Find the missing number i tp,
following series :

4,18, 7, 100, 180, 294, 43
(1) 48
(2) 60
(3) 50
(4) 58

In a certain code language,
‘GOAL’ is written as ‘BPMH’ and
‘MIND’ as ‘OJEN’. So what will
be written to ‘SQAR’ in the same
code language ?

(1) KTPB

{2y BPST

(8) BRTS
(4) STBR

The number of squares in the
following figure is

(1) 50
(2) 20
(3) 40
(4) 30
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(1)
i)
(3) wn
(4) =<

94. If the ratio of ages of

95.

96.

Reema is 9 : 16, aftey
will be 2 : 3. The ,.,tm"i: Year iy
n

Seema and Ree 'Tey
years was ; e hﬂm h:
(1) 6:13
(2) 2:3
(3) 9:18
(4) 3:2
The population of o
3,60,000, Tts vanauf@cz;ﬁfﬁ;

are shown in following pie-chary

'_The sum of the persons engaged
In service and transportation is
equal to sum of which of the
following occupations ?

(1) Industry and Agriculture

(2) Agriculture and

Transportation
(3) Trade and Industry
(4) Agriculture and Trade

Kamal and Laxman are two real
brothers. Om and Prem is a
married couple. Nandani 1s
daughter of Kamal. Laxman is
father of Prem. Chanchal is thf
wife of Laxman and Kamalhs
mother name is Madhu. Om 1
Laxman’s son-in-law and Daya 18
Om’s daughter.
How is Prem re
(1) Mother
(2) Cousin sister
(3) Sister-in-law
(4) Aunty

lated to Nandani ?

0A
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(1) ¥ 16,000
(2) T 10,000
(3) ¥ 12,000
(4) T 14,000

ffafes & @ fsd af 2021 7 A
FRrsgwor & fagfve e o a7

6 Tl g

Q) w W
(é)iﬁd‘!am

U&Xﬁﬁﬁw&

f{/ma‘rw%mmmmﬁﬂw
TR |
(1) i e fofins
(2) o1 WeiEeg fafies
(3) YT JoorHd A fafis
(4) @R FREA /
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(1) gt FewdE |
2y Fram A (A) T R |
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88

97.

98.

| 99.

l

100.

The value

a mach'ng
depreciates 2L the rate of

every year. It was purchag
years ago. If its present Valu

? 8748, then it8 purchase ph
was —

(1) 716,000

(2) 210,000

(3) 712,000

(4) T 14,000

Which of the following has Ny
been awarded Padma ‘;fﬂ::hu,,]mJJ
in year 2021 7

(1) Ramvilas Paswan

(2) S.P. Balasubramaniam

(3) B.B. Lal

(4) Shinzo Abe

The  company, which s
constructing New Parliament
Building of India :

(1) Gammon India Ltd.

(2) Tata Projects Ltd.

(3) Shapoorjl Pallonp ‘Construction
Ltd. .

(4) L & T Construction

Read the following statements
about Pandit Rajan Mishra :

(A) He was a classical vocalist of
Khayal style.

(B) He was awarded Padmashri
in year 2007,

Choose the correct option :

(1) Both the statements &re
correct.

(2) Only Statement (A) is correct.
(3) Only Statement (B) is correct:
(4) Nelther (A) nor (B) 18 cori‘ﬂﬁ'*

@
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